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NDA 12025 LIVE CLASS - MATHS - PART 3

Q) The motion of a particle is described as s =2 — 3t + 4t3- What
1s the acceleration of the particle at the point where its
velocity 1s zero?

@ 0 (b) 4unit
(¢) 8unit (d) 12unit
y , Yy = 0
Y ‘=___:¢__ - =3+ ,-?{
df "'34‘/.’{7’1:0 =7 ‘tz-_'_g-':) i—:'aL
I3
6 = dv - dY¢ (é canno f

dt ] S Q= Jv;;(:z_/} ;- be -ve)
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Q) The motion of a particle is described as s =2 — 3t + 4t3- What
1s the acceleration of the particle at the point where its
velocity 1s zero?

(@) 0 (b) 4unit
(¢) 8unit (d) 12unit

Ans: (d)
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Q) What 1s the maximum slope of the curve
y=—x%x>+3x%+2x-277

(a 1 (b) 2 o
© 5 (d) —23 ﬁmdmj enhrea/ an: 767 m
‘_6 = —
Slope = dy - -3 #6144 #éc0
~c AN A
() dx —~3(1) +6(1) 12

Second erivabive o# M
Pir!l’ o{criraf’l‘vc Oz ) ( _(/%() @ N~ ——’

d*
-6 <0
O{m: —6x +¢ 7

d1

So, 2=) I a /»rfnf% maxfma/
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Q) What 1s the maximum slope of the curve
y=—x7+3x*+2x-277

@) 1 (b) 2
© 3 (d) —23

Ans: (c)
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Q) Let a and b be two distinct roots of a polynomial equation
f(x)=0. Then there exists at least one root lying between a
and b of the polynomial equation.

(@ f(x)=0 b f(x)=0
© fMx)=0 (d) None of these

r)((‘a) = 7[('5) -0 Rofle s Theorem

f(9=0 =
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Q) Let a and b be two distinct roots of a polynomial equation
f(x)=0. Then there exists at least one root lying between a
and b of the polynomial equation.
(@ f(x)=0 b f(x)=0
© fMx)=0 (d) None of these

Ans: (b)
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Q) Iff(x)=3x%+6x—9,then
(@) f(x)isincreasingin (—1, 3)
(b) f(x)1sdecreasingin (3, o)
(¢) f(x)isincreasingin (—o,—1)
(d) f(x)1sdecreasingin (—,—1) v/

/14

vl

o —7
6% + 6 “ -5 =) 0 X

f’(ﬁ) =0
birt -0 decrea!/rU In (112
1=~/
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Q) Iff(x)=3x%+6x—9,then
(@) f(x)isincreasingin (—1, 3)
(b) f(x)1sdecreasingin (3, o)
(¢) f(x)isincreasingin (—o,—1)
(d) f(x)1sdecreasingin (—oo,—1)

Ans: (d)
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Q) If the tangent to the curve, y=x" + ax — b at the point

(1,—-5) 1s perpendicular to the line, —x+ y+ 4 =0, then
which one of the following points lies on the curve ?

@ 2,9 ) 2-2) 5= Prall) b
(C) (_29 1) (d) (29 _1)

a-b-=-6 """"(l)

(1,-5) -1+;+y=0 S/r?ae o/ fengenf af (1,-5

_’/7%‘_ —dﬁt - 3t +a
o(zl’wz—-b g=rer |0 I (1-5)

(&':MJL-H'/) = 3(1)" +4 :ﬁﬁ
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(1)) = =1 (& lou are pespenditafy)

fuf of/'fpmf and J)Qck,
(9 (-2,2) — o

(6) (3,-2) — Vv
ﬁ; 7+ ax-b

4 13 —yy -3

~ S~


https://learn.ssbcrackexams.com/learn/CDS-Exam-Online-Video-Lectures

NDA 12025 LIVE CLASS - MATHS - PART 3

Q) If the tangent to the curve, y=x" + ax — b at the point

(1,-5) 1s perpendicular to the line, —x+ y+ 4 =0, then
which one of the following points lies on the curve ?

(a) (-2,2) (b) 2,-2)
(C) (_29 ]-) (d) (29 _1)

Ans: (b)
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Q) What is the slope of the normal at the point (at?, 2at) of the
parabola y*=4ax ?

1

@ T ®) t
© -t @ — .
t At (ot daf)
b2 dax 4 . L
t
o?{_dé{_ - 4a sfope o/ Rt

dx/_/ fﬂnjm[— f/7;¢ 07/ m)rmﬁl/
L



https://learn.ssbcrackexams.com/learn/CDS-Exam-Online-Video-Lectures

NDA 12025 LIVE CLASS - MATHS - PART 3

Q) What is the slope of the normal at the point (at?, 2at) of the
parabola y*=4ax ?

1
@ T ) t

(c) —t @ --

Ans: (c)
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Q) Ifsinxcosy=

1 . d2y T T
— , then what 1s the value of d_2 at ?
X

2 474
(@ 4 (b) -2
() -0 @d 0
Cosy WX + .(’fnx(—ffn)d = 0
i i a
oy - - uyerr - uhelf
dr

dn?

- S’fn;( an(f /
tof 1 ( —~ cofeczdf)( jq_) + cofVV ( —-Meczg


https://learn.ssbcrackexams.com/learn/CDS-Exam-Online-Video-Lectures

NDA 12025 LIVE CLASS - MATHS - PART 3

d2
sin X cos y= —, then what 1s the value of —- at
Q) Ifsi 5 » hen whats the value of —
X”
(@) —4 (b) -2
© -6 (d) 0

Ans: (a)

&

T T
4° 4

ar
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Q) A wire 34 cm long 1s to be bent in the form of a quadrilateral
of which each angle 1s 90°. What 1s the maximmum area which
can be enclosed ingide the quadrilateral?

(a) 68cm? (b) 70cm?
() 71.25cm? (d) 72.25 cm?/
Max . areq / {,('f 74"”“' a
recfans/e = /
d /ov mfand/e (.Z uare}
°?([+ 5} :3({
[=4-h
[+6 = 12 d
AT a'f'(’,ﬂ:__/_?_x_@—: 299_:'7'?'3500!'

3
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EXAMS

Q) A wire 34 cm long 1s to be bent in the form of a quadrilateral
of which each angle 1s 90°. What 1s the maximum area which
can be enclosed 1nside the quadrilateral?

(a) 68cm? (b) 70cm?
(©) 71.25cm? (d) 72.25cm?

Ans: (d)
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Q) What 1s the area of the largest rectangular field which can
be enclosed with 200 m of fencing ?

@) 1600m?2 (b) 2100m?3
(©) 2400m? (d) 2500 m?
A((+5) = Q00
Yea - 59
I4h - 100 A 50 X 50
= 4500 m?
(;A (MdXoarw) \ A~

[=4 - 50
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EXAMS

Q) What is the area of the largest rectangular field which can
be enclosed with 200 m of fencing ?
@) 1600m?2 (b) 2100m?
(€) 2400m? (d) 2500m?

Ans: (d)
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—
Q) The maximum value of In x is 7{ [l)
X
@e (b)é (C)S ()1 gecond derivahive
M
W 7(”/ xl(_-é-) 1 (/-lnx)f,?z)
2(%} - 11)1(/) = Aot 2}— ~ Z
/’[x) ] B 1t
X’ = ':1 +=?x—a?xln14
&
eolbieal phofe /- lnx b
F’ / ] = =2

\1

[=ha=0 5 bn= 7{1=¢) - & ,2 /
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["(e) = =L <o

EXAMS

nax- value {f{x} lne :
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Q) The maximum value of In x is
X
@e b ©
e

Ans: (b)
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Q) The velocity of telegraphic communication 1s given by
v=x2log (1/x), where x is the displacement. For maximum

velocity, x equals to?

(a) ele (b) 8_1!2 ‘
© ey @ 2717 formax. Y,

dv
/= 12[007(_{.) 7%_ -0 [V}(: -::?/_

¥ = 7’ (—[on) = ——IQLOJZ -—4140041-—1 =0
dv -Rxéoﬁz--zz-_?fz 1(’4[‘7”’) =0 /

d1
- . —=alax-/-=0
—Rxlo(fx — 1 1= ; ~% ix /

t)

L
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Q) The velocity of telegraphic communication 1s given by
v=x2log (1/x), where x is the displacement. For maximum
velocity, x equals to?

@ e (b) 17
© () (@) 2¢717

Ans: (b)
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Q) The maximum value of sin (x + EJ + cos (x + E), where
5 5

T . .
X € (0, E) is attained at

(a) 50 (b) T () 0 (d)

N g
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Q) The maximum value of sin (x + EJ + cos (x + EJ, where
5 5

T . .
X € (0, E) is attained at

(a) 50 (b) T () 0 (d)

N g

Ans: (a)
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Q) What is the maximum value of 16sin© — 12sin”® 0 ?

(@ (b) = ) 18

d
4 3 3 A 4
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Q) What is the maximum value of 16sin© — 12sin”® 0 ?

(@ (b) = ) 18

d
4 3 3 A 4

Ans: (c)
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Q) What is the minimum value of
a’x +b°y where xy = ¢ ?
(a) abc (b) 2abc
(c) 3abc (d) 4abc
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Q) What is the minimum value of
a’x +b%y where xy = ¢*?
(a) abc (b) 2abc
(c) 3abc (d) 4abc

Ans: (b)
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Q) Ify= |s111 x|‘ x| , then what is the value of

X (6 (2 ~37)

6

(a)

T

26 (6 (n2++/3m)

(b)
6

© 26 (6 tn2 +/37)
6

@ s (6 fn2—\/§ﬂ)

6

@,
dxa 6
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Q) Ify= |smx|‘ x| , then what is the value of
@ X (6 tn2—+/3m)
6
@ 26 (6 fn2+\/§n)
6
© 2 6(6£n2+\/_ﬂ)
6
@ 26 (6 fn2—\/§ﬂ)

6
Ans: (a)

@,
dxa 6
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Q) Which one of the following is correct in respect of the
function

: 1
f(x)=xsin x + cos x+5 cos® x?
(a) It is increasing in the interval (O, g)
(b) It remains constant in the interval (O, g)

(c) It is decreasing in the interval (0, E”.]

(d) It is decreasing in the interval (g 2EJ
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Q) Which one of the following is correct in respect of the
function

: 1
f(x)=xsin x + cos x+§c0$2 x?

(&) Itis increasing in the interval (O, g)
(b) It remains constant in the interval (O, 23)

(c) It is decreasing in the interval (0, En.]

(d) It is decreasing in the interval (g 2EJ

Ans: (a)
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1
Q) What is the minimum value of [x(x —1)+1]3, where

as.x<17?
1

@) G)g (b) 1 © (d) @1/3
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EXAMS

1
Q) What is the minimum value of [x(x —1)+1]3, where

as.xs17?
L 1/3
@) (2)3 (b) 1 © (d) (gj

Ans: (a)
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